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Lesson 11-5: Measures of Central Tendency......page #
»
Essential Question: What are the measures of central tendency
and affects of outliers for statistical data?
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Find the mean, median, and mode of the data.
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Recall that the mean, median, and mode are measures of central
tendency - the values that describe the center of a data set.

The mean is the sum of the es in the set divided by the number of values.
It is often represented 'S{ . 22X
n

The median is the middle value or the mean %ﬁhe%ln?iﬁdlg\%lues
when the set is ordered numerically.
XXX x X

The mode is the value of values that occur most often.
A data set may have one mode, no mode, or several modes.
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Alweighted average is a mean calculated by using

frequencies of data values. Suppose that 30 movies
are rated as follows:

Movie Ratings

Rating ok kK * % K* * % * no stars

Number of Movies 8 12 7 2 1

weigh tedLg véfragegf%t%{'ﬁ/:‘/
-8(4) + 12(3) + 7(2) +2(1) + 1(0) :

= 2.8 star
Bri2+7+2+1 30 st
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The probability distribution of successful free

throws for a practice set is given below. Find the

expected number of successes for one set.
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The probability distribution of the number of
accidents in a week at an intersection, based on
past data, is given below. Find the expected
number of accidents for one week.

Number of accidents n 0 1 2 3

Probability of n accidents 0.75 | 0.15 | 0.08 | 0.02
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Make a box-and-whisker plot of the data. Find
the interquartile range.

A box-and-whisker plot shows the spread of a data
set. It displays 5 key points: the minimum and {6,8,7,5,10, 6,9, 8, 4}
maximum values, the median, and the first and Step 1 Order the data from least to greatest.
third quartiles. 4566 7 8 8 9 10
Step 2 Find the minimum, maximum, median, and
First quartile Third quartile quartiles.
Minimum Q) Median (Q3) Maximum
i Y A A4 ¢ (4.5.6,6)7,B8,8,9,10
o—{ E }—. - 1
R s S Himimum =+ Median | Maximum
o I‘ntev;uarl‘ierlange‘ [ R‘) o First quartile Third quartile
5.5 8.5
The quartiles are the medians of the lower and upper Step 3 Show the 5 number summary. | — — _}

halves of the data set. If there are an odd number of
data values, do not include the median in either half.

Step 4 Draw a box plot.

The interquartile range, or I%R, is the difference
between the 1st and 3™ quarliles, or Q3 - Q1. It
represents the middle 50% of the data.
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Make a box-and-whisker plot of the data.

Find the interquartile range. Make a box-and-whisker plot of the data.
Find the interquartile range.
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